Installation
Instructions

Dual Stacking Mount Bracket
(for DLP™ based projectors)

Model No. ET‘ D F D95

Iy

\
=V |

Panasonic

Warning:

For safety reasons, this bracket must be installed by a qualified technician and the described installation
procedures must be follows.

This installation should conform to all local codes.



Dear Panasonic Customer:

This instruction booklet provides all the necessary operating information that you might require. We hope it will
help you to get the most performance out of new product, and that you will be pleased with your Panasonic
Dual Stacking Mount Bracket.

Contents

Precautions withregardtosafety ......... ... ... . . . . . . . .. 2
Bracket COmMpPONeNtS. . . ... 3
Assembled bracket with projectors. . ........ ... . 3
Projection distance and dimensSioNsS . . . ... .. ittt e 4
ASSEMDIY PrOCESS. . . . 9
Adjusting upper projector angle. . ... 15
SpPeCIfiCAtiONS . ..o 17
OUter diMENSIONS . .. 18

Precautions with regard to safety
WARNING

Always have a service technician perform the assembly and installation.

* Incorrect assembly or installation may result in injury.

At least 3 people are required to install the bracket.

» The weight of the bracket and two projectors is at least 293 kg(644.6 Ib). For maximum safety, at least 3 people
are required to install the bracket.

Do not install in locations with insufficient support.

 The bracket may fall and cause injury.

Do not install in unstable locations.

 The bracket may fall and cause injury.

CAUTION

Do not install in locations where the projector fans will be blocked.

* Fire may result.

Do not install in humid or dusty locations, locations with oil steam or vapors, or locations where heat
radiates.

* Fire may result.



Bracket components

This bracket is exclusively for the installation of dual DLP™ projectors. The bracket is made up of the following
components. Before assembling the bracket, confirm that all components have been provided.

m Structural components

Base frame 1
For mounting the lower projector.

Use the following to mount the lower
projector in the base frame.

Flat washers (M10) 4
(©) Spring washers (M10) 4
Do Hex bolts (M10) 4

attached.

the base frame.

Left frame, right frame 1 each
Attaches to the base frame, then the upper frame is

Use the following to attach the left and right frames to

Built-in allen hex socket bolts (M6x20) 6
Allen hex socket bolts (M8x50) 6

Gas springs 2

Attaches to the upper frame
and left and right frames to
support the weight of the
upper projector.

Use the following to install
the gas springs.

B

Plate bolts (M5x10) 8

00 6 (e

Use the following to attach the upper
frame to the left and right frames.

Upper frame 1

For mounting the upper projector. Then the frame and upper projector are
attached to the left and right frames.

Special-purpose axes 2

Washers 2

Hex nuts (M12) 2
Spring washers (M12) 2
Flat washers (M12) 2

Allen hex socket bolts (M10) 2
Spring washers (M10) 2
Flat washers (M10) 2

Use the following to attach
the upperr frame to the
upper projector.

Washers (A) 4
Washers (B) 3

Washers (C) 1
Mounting nut (M10) 4
Hex nuts (M10) 4

Snap pins 4

Left guard frame, right guard frame 1 each

After the upper and lower projectors are mounted,
attaches to the left and right frames.

| Use the following to attach the left and right guard |
frames to the left and right frames.

Flat washers (M6) 14

Spring washers (M6) 14

Allen hex socket bolts (M6x50) 14

WO

o0 T 3o,

Upper projector

U

T

sJc ©0000 of

o0 & oo,

;]: @ - °r

Lower projector

&

with projectors




Projection distance and dimensions

The distance from the DLP(TM) Projectors to the screen should be as follows:

* Installation drawing of the screen and the DLP™ projector (unit: mm/inches)

Side view Rear view
Screen - 188([1 183)
SH |- ) ) Centre of screen Centre of projector
-90° o B
Centre of screen I .:; ]
==
L screen ‘
Top view
Screen LLE- 1/
/ Centre of projector N & @
I [r———— O for PT-D8500U/E
H PT-D8600U/E
Sy 188 ] ] ] ] T |
(0 183) -»""90" - ey | ) L: Projection distance (from centre of front
bracket leg to screen)

B: Distance from centre of upper and lower

O for ﬁﬁ::bé_SOOU/E Centre of screen ;
lens to floor is 562 mm.(22.1")

PT-D8600U/E

m When installing a projection lens(sold separately) of ET-D85LE1, ET-D95LE2,ET-D95LES3,
or ET-D95LE9 for model No. PT-D9500U, PT-D9500E, PT-D9510U, PT-D9510E.

Projection distance measurements (screen aspect ratio: 4:3)
unit: mm (feet/inches)

. . Projection distance

Picture Screen size i

. Zoom lens Fixed focal lens
size
Effective Effective |ET-DO5LET]15-25010ET-D95SLEZ] 254,00 10 ET-D95LE3] 4.0-7.010ET-DO5LE9
height(SH) | width(SW) | Min. Max. Min. Max. Min. Max. 0.8:1

2 540 1524 2032 3261 5197 5270 8 221 8196 | 14142 2 398
(100" (5' 0" (6'8" (109" @z (17'3") (27'0") | (26'11") (46'5") (7'11")
3048 1829 2438 3870 6 203 6279 9 833 9820 | 16976 2827
(120" (6'0" (8' 0" (12'9" (20'4") (20'7") (32'3" (32'3") (55'8") (9'4"
3810 2 286 3048 4784 7 713 7 792 12 251 12 257 | 21227 3478
(150" (7'6" (10' 0" (15'9" (25'4") (25'7") (402" (402" (69'7") (11'5")
4572 2743 3658 5 698 9 223 9 305 14 669 14693 | 25478 4114
(180" (9' 0" (12' 0" (18'9" (30'3") (30'6") (481" (482" (83'7") (316"
5 080 3048 4 064 6 307 10229 | 10314 16 281 16318 | 28312
(200" (10" 0" (13'4") (20'8") (337" | (3310 (535" (536" | (92'10"
6 350 3810 5 080 7 830 12745 | 12835 20 310 20379 | 35397 e
(250" (12'6" (16'8" (25'8" (41'9" (421" (66'7) | (66'10" | (116'1")
7 620 4572 6 096 9 353 15261 | 15357 24 340 24440 | 42482 —
(300" (15'0") (20" 0" (30'8") (50'0%) (504" | (79'10% (80'2% | (139'4")
8 890 5334 7112 | 10876 17777 | 17879 28 369 28501 | 49567 —_—
(350" aze" (23'4") (35'8") (58'8" (58'8") (93'6" (935" | (162'6")

10 160 6 096 8128 | 12399 20293 | 20401 32 399 32562 | 56651 E—
(400" (20' 0" (26'8" (40'8" (667" | (66'11") | (106'3") | (1069 | (1859

11 430 6 858 9144 | 13922 22809 | 22923 36 429 36623 | 63736 —_—
(450" (22'6" (30' 0" (45'8" | (77'10Y (752" | (1195" | (1201") | (209' 0%

12 700 7 620 10160 | 15445 25325 | 25445 | 40458 | 40684 | 70821 e
(500" (25' 0" (33'4") (50'8") (830" (835" | (132'8) | (1335") | (232'3")

13 970 8 382 11176 | 16 968 27841 | 27966 | 44488 | 44745 | 77 906 —
(550" (27'6" (36'8") (55'8" (91'4%) (919" |(145'11") | (146'9") | (2555

15 240 9144 12192 | 18491 30357 | 30488 | 48517 | 48806 | 84991 —
(600" (30' 0" (40' 0" (60'8") (997" | (100'0" |(159'11") | (1600") | (2788

NOTE:

If there is no reference made to the picture size required, calculate the projection distance from that of a similar
picture-size and adjust the zoom lens.

4



Projection distance measurements (continue)

B When installing a projection lens(sold separately) of ET-D85LE1, ET-D95LE2,ET-D95LE3,
or ET-D95LE9 for model No. PT-D9500U, PT-D9500E, PT-D9510U, PT-D9510E.

Projection distance measurements (screen aspect ratio: 16:9)

unit: mm (feet/inches)

Picture

Screen size

Projection distance

) Zoom lens Fixed focal lens
slze Effective Effective |ET-DO5LEI] 1.5-2.50 10 ET-DOSLEZ] 2.5-4.00 10 ET-DOSLE3] 4.0-7.00 10ET-DO5LE9
height(SH) | width(SW) Min. Max. Min. Max. Min. Max. 0.8:1

2 540 1245 2214 3534 5647 5721 8 942 8 922 15 409 2 589
(100" (G (7'3") @ax7v (186" (189" (29'4") (29'3") (50'6" (8'6"
3048 1494 2 657 4 197 6 743 6 820 10 698 10 692 18 497 3 057
(120" 411" (8'9") (139" (221" (22'5" (35'1") (35'1") (60'8" (10'1")
3810 1 868 3321 5193 8 388 8 468 13 332 13 346 23128 3758
(150" (6'2" (10'11") @73 (27'6") (27'10" (439" 439" (75'10") (124
4572 2241 3985 6 188 10 033 10117 15 966 16 001 27 759 4 459
(180" (7'4" (131" (204" (32'11") (332" (52'4") (52'6" (91'0" (14'8")
5 080 2491 4 428 6 852 11 129 11 216 17 722 17 771 30 847 e
(200" (82" (14'6" (22'6" (36'6") (36'10") (581" (58'3") (10127
6 350 3113 5535 8511 13 870 13 963 22112 22 195 38 565 _—
(250" (203" (as2" (27'11") 45'6") (45'10") (72'7") (72'10") (126'6")
7 620 3736 6 641 10171 16 611 16 711 26 502 26 619 46 284 _
(300" (123" (21'10Y (334" (54'6" (54'10") (86'11") 87'3" (1519
8 890 4 358 7748 11 830 19 352 19 458 30 892 31 043 54 002 —
(350" (24'4") (25'5" (38'10" (636" (63'10") (101'4") | (101'10" @azzim

10 160 4 981 8 855 13 489 22 094 22 205 35 282 35 467 61 721 —_—
(400" (16'4") (29'0" “@44'3" (72'5" (72'10") (115'8") (116'4") (202'5")

11 430 5604 9 962 15 148 24 835 24 953 39672 39 892 69 440 —
(450" (a8's5" (32'8") 49'8" (81'5" (81'10" (130'1") | (130'10" (227'8")

12 700 6 226 11 069 16 808 27 576 27 700 44 062 44 316 77 158 —
(500" (20'5" (36'4") (65'11") (90'5") (90'10%) (144'6") (145'4") (253'7")

13 970 6 849 12176 18 467 30 317 30 448 48 452 48 740 84 877 —
(550" (22'6" (40' 0" (607" (99'5") (99'10" | (158'11") | (159'10" (278'4")

NOTE:

The projection distance listed in the table may have a variation within + 5%.



Projection distance measurements (continue)

m When installing a projection lens(sold separately) of ET-D85LES,ET-D95LE6,ET-DO5LE7,
ET-D95LES8 or ET-D95LEY for model No. PT-D9600U, PT-D9600E, PT-D9610U, PT-D9610E.

Projection distance measurements (screen aspect ratio: 5:4)

unit: mm (feet/inches)

. Projection distance (L)

. Screen size

Picture Zoom lens dﬁixed focal lens
Size Effective | Effective |[ET-D95LE5(1.5-2.0 : 1)| ET-D95LEG(2.0-2.5: 1)| ET-D95LE7(2.5-4.0 : 1)| ET-DO5LES(4.0-7.0 : 1)| ET-DO5LE9Q

height(SH)| width(SW)|  min, Max. Min. Max. Min. Max. Min. Max. 08:1

25400 15860 1 983[] 3 203 4 1941 4266 5172 50330 79270 8 066[] 13 905[gn 1 926[]
(aoonp (5210 (6'6"0 (106" a3'9m (a4'omp (16'11MQ aee6"p (260 (26'6"1 (4570 (6'4"
30480 19040 2 380(] 38141 5 007! 50790 6 165[] 6 02501 95130 9 654 16 686 2 261[]
@azonp (e3)d| (72090 (12"eY)( (16'5") @aesHi (203" aoonp  @E13Yp  (318HI  (54'9M) (75"
38100 2 3800 2 975[] 4 732 6 226@] 629901 7 655[] 75120 118911 120350 20 858] 2 763[]
(asonp (7'10mo (99 (15'6")(] (2050 (2080 (25'1")(] (2480 (39011 (396 (685H] U (9170
45720 2 8560 3 570[] 5 650 7 444]] 75190 9 1460 89991 1427000 144160 25029 3 265[]
@asonp  (9'4nhd| (11'9YQ (18'6")] (245l (248yp (300" (2960 @610 (474D (82'1Y)( (10990
50800 31740 3967[] 6 2611 8 257@1 83321 10 139(] 999101 15855 16004 27 810[ 3 600[]
(2000 (10'5M0  (13'0%)0 (207" 271" @74anp (33310 329b  (520o)p (526l (91'3")] (11'10")
6 35001 39670 4 959([] 77910 10289[] 103650 126230 124700 198200 19973 34 763[
(2500 (130Md| (1639 257 (33'9M(] (340 (41510 (40110 (65'0M0  (65'6") (114'1")(
7 62001 4 7600 5 950(] 93200 1232081 12398p 151070 149480 23784 239410 417150 —
(300" (15'7H0 (19'6") (307" (40'5")@1 408 (497" (491D (780 (786" (136'10")]
8 890 5 5540 6 942[] 10849 14 352 14 431 175910 17 42700 27 7481 27 910 486680
(350" (18'3"0| (22'9")( (357" @r7rinm  @74ann (579 B72%0  @1op (917 (159'8Y)(]

10 1600 6 3470 79340 123790 163830 164640 200740 199061 317120 31879l 556200 _
(400" (20100  (26'0%)0 407" 3ol (54'0mp (651070 (6540 (104'1H[ (104'7"[ (182'6")]

11 4300 7 1400 8 925[] 13908[ 18 415@ 18 497[1 22558[] 2238400 356761 35847 625730 ——
4500 (23500 (293" (4580 (60'5") (600 (74'0"Q (7350 @@i7inp (@A177)Q0 (205490

12 7000 7 9340 09170 154380 204460 205300 25042 248630 39640 398160 69525] ____
(5001 (24'6M0| (32'6") (50'8")(] (67'1"0 (67'4H0 (822" (8170 (1301 (13080 (2281

139700 87270 109090 169670 224780 225620 27526[ 2734200 43 604] 43 785l 76 478[
(550" (26'1"0| (35'10")( (55'8")] (739" (740 (904" (89'8"[0 (14311 (143'1")[(250'11")(]

15 2400 95200 119000 18496 24509 24595 300100 2982000 47568 47 7530 83 430[
(600" | (31'3") (39'1") (60'8") (80'5") (80'8" (98'6") (97'10)| (156'1"| (156'8")| (2739

NOTE:

If there is no reference made to the picture size required, calculate the projection distance from that of a similar
picture-size and adjust the zoom lens.

Projection distance measurements (screen aspect ratio: 16:9)

unit: mm (feet/inches)

. Projection distance (L)
Screen size

Picture Zoom lens Fixed focal lens]

size Effective | Effective |[ET-D95LE5(1.5-2.0 : 1)| ET-D95LEG(2.0-2.5 : 1)| ET-D95LE7(2.5-4.0 : 1)| ET-DO5LES(4.0-7.0 : 1)|ET-D95LE9
height(SH) width(SW)|  Mmin. Max. Min. Max. Min. Max. Min. Max. 08:1

25400 124500 22140 3558 4e666[0] 47380 57480 56090 88481 8987 155190 2120[
(10090 (4'190 (7’390  (a1'8")[ (15'4")B] as790 (a810Mp (18'5")10 (290M0 (2960 (50110 (6'11M)[
30480 14940 26570 4 241[ 5572 56450 68570 67150 10617( 107590 1862301 2 494[
(120M0 (41110 (890 (131110 @183 @86 (2260 (2201 (341000 (354N  (6117)[ (8214
38100 18680 33210 5 265[] 6 9331 700701 85200 83750 1327201 13417)] 232790 3 055[
@aso’)p (6290 (ao11ng  @73nhg (2290l (23090 (27110 (27'6")[ 4370 4400  (76'5"p (101
457201 22410/ 3 985( 6 289[] 8 293( 83681 10184[) 100350 15926 160740 279350 3 615[
@aso’)p (7490 (a311hg (2osHgy (273H0 (27590 (335 (32'11")([ (52'3%0 (5291  (91'8)p (11'10"(
50800 24910 4 4280 6 971( 9 2000 92761 11292 111420 17696( 178460 310380 ____ [
(2oo0mp  (82"0O (a4'6’)d (2210M0 (3020 (305 (371 (367 (B81HI (587" (101'10")[
6 3500 31130/ 55350 8678 11468 115450 140650 139080 221200 222760 387980 _—
(250D (103"0|  @as2hg (286’ (378" (37'11Mp (462) (450 (727H0 (731D (12730
762001 37360 66410 103850 137350 13814 168370 166740 2654401 267051 465571 ____
(3000 (12'390| (211090 (3410 (@51H0 (45470 (553 (54'8")[ @71HE (877HI (15290
889001 43580/ 77480 120920 160020 16082 196090 194410 30968 31134 543170 _—
(3500 (14'4m0| (2550 (3980 (526" (5290  (64'4np (63'9)0 (1017" (102290 (1782")0

101600 49810/ 88550 137990 182690 18351 22381f 222070 35393 35564 620760 ____
@oo)l (1640l (29010 (45310 (5911M0 (60290 (735" (72'10)0 (1161 (116'8)11 (203'8")[

11 4300 56040/ 99620 155060 20537 206200 25153 24974 398170 399931 698361 —
4500 @assnol  (328M (5011M (67400  (67'8)D (826" (81110 (130'8") (1313 (229110

12 70001 62260/ 11 0690 172130 228040 228890 279250 27 7400 442410 44422 775950 _—
(5000 (20500 (364n] (56'6")] (74'10M0 (7510 (917"  (91'0)0 (1452" (14599 (25470

139700 68490/ 121760 189190 250710 25158 30697 30506 48 665[ 48852 853550
(550" | (226" | (39'11") (62'1") (82'3") (82'6")| (1009"| (1001%0 (159'8")| (160'3")| (2800"

In
NOTE:

The projection distance listed in the table may have a variation within = 5 %.

6



Projection distance measurements (continue)

® When installing a projection lens(sold separately) of ET-D85LE1,ET-D95LE2,
ET-D95LE3, or ET-D95LE9 for model No. PT-D8500U, PT-D8500E.

Projection distance measurements (screen aspect ratio: 4:3)

unit: mm (feet/inches)

Projection distance

Picture Screen size .
. Zoom lens Fixed focal lens
size
Effective Effective |ET-DO5LET]15-250 10 ET-DO5LEZ2]1 254,00 10 ET-D95LE3] 4.0-7. 0 0ET-DO95LE9
height(SH) | width(SW) | Min. Max. Min. Max. Min. Max. (0.8:1)

2540 1524 2032 3261 5197 5270 8221 8196 14142 2 398
(100" (412" (6'8") (10'9" (171" @73y | (2612" | (2611 (46'5" (711"
3048 1829 2438 3870 6203 6279 9833 9820 16976 2827
(120" (5'12") (7'12") (12'9" (20'4") (20'7" (32'3") (32'3") (55'8" (9'4"
3810 2286 3048 4784 7713 7792 12251 12257 21227 3478
(150" (7'6" (9'12") (15'9" (25'4") (25'7" (402" (402" (69'7" (11'5")
4572 2743 3658 5698 9223 9305 14669 14693 25478 4114
(180" (812" | (@112 (18'9" (30'3") (30'6") (481" (482" (837 | @a31e
5080 3048 4064 6307 10229 10314 16281 16318 28312 S
(200" (9'12") (13'4") (20'8") (337 | (3310 (535" (536" | (9210
6350 3810 5080 7830 12745 12835 20310 20379 35397 —_
(250" (12'6") (16'8") (25'8") (41'9 (421" (66'7) | (66'10" | (116'1"
7620 4572 6096 9353 15261 15357 24340 24440 42482 —
(300" | (14'12) | (19'12") (30'8") (500" (504" | (79'10" (802" | (1394
8890 5334 7112 10876 17777 17879 28369 28501 49567 _
(350" (176" (23'4") (35'8") (58'8") (58'8") (936" (935" | (1626

10160 6096 8128 12399 20293 20401 32399 32562 56651 —
(400" | (19'12") (26'8") (40'8") (667 | (6611") | (106'3") | (106'9") | (185'9")

11430 6858 9144 13922 22809 22923 36429 36623 63736 —_—
(450" (226" | (29'12" 458" | (7710 (752" | (1195" | (1201") |(20812"

12700 7620 10160 15445 25325 25445 40458 40684 70821 E—
(500" | (24'12") (33'4") (50'8") (830 (835" | (132'8") | (1335") | (232'3")

13970 8382 11176 16968 27841 27966 44488 44745 77906 —
(550" (27'6") (36'8") (55'8") (91'4") (91'9" |(145'11") | (146'9") | (255'5")

15240 9144 12192 18491 30357 30488 48517 48806 84991 —_—
(600" | (29'12") | (39'12") (60'8") (997" | (9912") |(15911") | (1600") | (278'8")

NOTE:

If there is no reference made to the picture size required, calculate the projection distance from that of a similar
picture-size and adjust the zoom lens.

Projection distance measurements (screen aspect ratio: 16:9)

unit: mm (feet/inches)

Projection distance

Picture Screen size
] Zoom lens Fixed focal lens
siz€ Effective | Effective |ET-D95LET] 1.5-2.50 10| ET-D95LEZ] 2.5-4.00 1[|ET-D95LE3] 4.0-7.00 10ET-DO5LEQ
height(SH) | width(SW) [~ Min, Max. Min. Max. Min. Max. (081)
2540 1245 2214 3534 5647 5721 8942 8922 15409 2 589
(100" (41" (7'3" @7y ase" 189 (29'4") (29'3") (50'6") (8'6"
3048 1494 2657 4197 6743 6820 10698 10692 18497 3057
(120" (4'11") (8'9" (139" (22'1" (22'5") (35'1") (35'1") (60'8") (1o
3810 1868 3321 5193 8388 8468 13332 13346 23128 3758
(150" (62" (10'11") @73 (276" (2710 (439" (439" | (7510 (124"
4572 2241 3985 6188 10033 10117 15966 16001 27759 4 459
(180" (7'4" @31y (204" | (32'11") (3329 (52'4") (52'6") (91'0" (14'8"
5080 2491 4428 6852 11129 11216 17722 17771 30847 R
(200" (82" 146" (22'6") (36'6" (36'10") (58'1") (5831 | (1012
6350 3113 5535 8511 13870 13963 22112 22195 38565 —_—
(250" (10'3") asz2v (27'11" (45'6" (45'10") (727 | (72109 | (126'6")
7620 3736 6641 10171 16611 16711 26502 26619 46284 —
(300" (12'3") (21'10") (334" (54'6" (54'10") (86'11") (873 | (151'9"
8890 4358 7748 11830 19352 19458 30892 31043 54002 e
(350" (14'4") (25'5") (38'10" (636" (63'10") (101'4" | (101'10" @azzaiy
10160 4981 8855 13489 22094 22205 35282 35467 61721 —_—
(400" (16'4") (29'0" (44'3") (72'5") (72'10") (115'8") | (116'4" | (202'5"
11430 5604 9962 15148 24835 24953 39672 39892 69440 e
(450" (18'5" (32'8") (49'8") (81'5" (81'10") (1301 | (130'10" (227'8")
12700 6226 11069 16808 27576 27700 44062 44316 77158 _—
(500" (20'5") (36'4") (55'11") (90'5") (90'10") (144'6" | (1454" | (2537
13970 6849 12176 18467 30317 30448 48452 48740 84877 —_—
(550" (22'6") (39'12") (60'7") (99'5" (99'10" | (158'11") | (159'10") (278'4")
NOTE:

The projection distance listed in the table may have a variation within + 5%.




Projection distance measurements (continue)

m When installing a projection lens(sold separately) of ET-D95LE1,ET-D95LE?2,
ET-D95LE3, or ET-D95LE9 for model No. PT-D8600U, PT-D8600E.

Projection distance measurements (screen aspect ratio: 5:4)

unit: mm (feet/inches)

Projection distance

Picture Screen size .
. Zoom lens Fixed focal lens
size
Effective | Effective |ET-D95LET]15-250 10/ ET-D95LEZ]25-4.00 10 ET-DO5LE3] 4.0-7.0010ET-DO5LES
height(SH) | width(SW) | Min. Max. Min. Max. Min. Max. ©81)

2540 1587 1983 3145 5 006 5078 7915 7887 | 13603 2316
(100" (53" (67" (104" (16'6" (169" (260" (26'0") (449" (7'8"
3048 1904 2380 3731 5974 6 048 9 465 9449 | 16329 2729
(120" (6'3") (7’107 (123" (198 | (19119 (311" (311" (539" (90"
3810 2380 2975 4610 7 426 7504 | 11791 | 11793 | 20418 3348
(150" (7’107 (9'10 (152" (245" (24'8") (389" | (3810" (672" (1107
4572 2856 3570 5 489 8 878 8959 | 14117 | 14137 | 24507 3967
(180" (9'5") (119" (18'1") (292" (29'6") (465" (46'6" (807" (131"
5 080 3173 3967 6 075 9 846 9929 | 15667 | 15700 | 27233 -
(200" (10'6") (131" (20'0") (325" (328" (517" (51'8") (897"
6 350 3967 4 959 7540 | 12267 | 12355 | 19543 | 19606 | 34049 —_—
(250" (13'1") (164" | (2410") (404" (408" (64'4) (64'6") | (112'0"
7 620 4760 5 950 9005 | 14687 | 14781 | 23420 | 23513 | 40864 —_—
(300" (15'8") (197" (297" (484" (488" (770" (774" | (134'5")
8 890 5554 6942 | 10470 | 17107 | 17207 | 27296 | 27419 | 47 679 E—
(350" (183" | (22'10 (34'5") (56'3" (567" | (89'10 (902" |(156'10")

10 160 6 347 7934 | 11935 | 19527 | 19633 | 31172 | 31326 | 54494 —
(400" | (2011 (261" (393" (64'3") (647 | (102'7") | (103'0") | (179'3")

11 430 7 140 8925 | 13400 | 21948 | 22059 | 35048 | 35232 | 61310 —
(450" (23'6") (294" (441" (722" (752" | (1154’ [(11511") | (201'8")

12 700 7 934 9917 | 14866 | 24368 | 24485 | 38925 | 39139 | 68125 —
(500" (24'6") (328" | (4811") (802" (807) | (1280" | (1289") | (2241")

13 970 8727 | 10909 | 16331 | 26788 | 26910 | 42801 | 43045 | 74940 —_—
(550" (261 | (35'11") (538" (881" (88'6") |(140'10") | (141'7") | (2466

15 240 9520 | 11900 | 17796 | 29209 | 29336 | 46677 | 46951 | 81756 —
(600" (314" (392" (586" (961" (966" | (15371 | (154'5") [(28811")

NOTE:

If there is no reference made to the picture size required, calculate the projection distance from that of a similar
picture-size and adjust the zoom lens.

Projection distance measurements (screen aspect ratio: 16:9)

unit: mm (feet/inches)

Projection distance

Picture Screen size
) Zoom lens Fixed focal lens
siz€ Effective | Effective |ET-D95LET] 1.5-2.50 1[ET-D95LEZ] 2.5-4.00 1[|ET-D95LE3Z] 4.0-7.00 10ET-DO5LEQ
height(SH) | width(SW) [ Min, Max. Min. Max. Min. Max. 081)
2540 1245 2214 3486 5 568 5641 8 815 8 794 15 186 2 556
(100" (41" (73" (11'6") (18'4" @as7 (2909 | (2811") (50'0") (8'5")
3048 1494 2 657 4140 6 648 6 724 10 546 10 538 18 229 3017
(120" 4'11") (8'9" (138" | (22'11" (22'1") 347" (34'1") (60'0") (9'11")
3810 1868 3321 5121 8 269 8 349 13 142 13 155 22 793 3708
(150" (62" (10'11") a7'3" 272" 27'6" (433" (433" (75'0") @azz2v
4572 2241 3985 6 102 9 890 9974 15 737 15771 27 357 4 399
(180" (7'4") (131" (201" (32'6" (32'10") 5199 | (51'11") (90'0") 146"
5080 2491 4 428 6 756 10 971 11 057 17 468 17 515 30 400 —_—
(200" (82" (14'6") (22'3") (36'1") (36'5") (57'6") (57'7" (100'0")
6350 3113 5535 8 391 13672 13764 21 795 21 875 38 007 _
(250" (103" as2 77" (45'0" (45'3") (71'8") (72'0") (125'0")
7620 3736 6 641 10 027 16 374 16 472 26 121 26 235 45 614 E—
(300" 12'3" (21'10") (330" | (53'11") (542" (85'11") (86'4") (150'0")
8890 4 358 7 748 11 662 19 075 19 180 30 448 30 595 53221 —_—
(350" (14'4" (25'5") (38'4") (62'9" (631" (10021 | (100'8" (1751
10160 4 981 8 855 13 297 21777 21 887 34 448 34 956 60 828 —_—
(400" (16'4" (29'0") (43'9") (71'8" (72'0") (114'5") | (115'0" (200'1")
11430 5 604 9 962 14 932 24 478 24 595 39 101 39 316 68 435 e
(450" (185" (32'8" (49'1") (80'6" (80'11") (a2818") | (1294" (225'1")
12700 6 226 11 069 16 568 27 180 27 303 43 427 43 676 76 042 -
(500" (20'5") (36'4" (54'6" (89'5" (89'10" | (142'10" | (143'8") (250'2")
13970 6 849 12176 18 203 29 881 30 010 47 754 48 036 83 648 e
(550" (22'6" (39'12") (59'11") (98'3" (98'19") (as71) | (1580 (275'4")
NOTE:

The projection distance listed in the table may have a variation within + 5%.

8




Assembly process

Follow the steps below to assemble this product and install the DLP (TM) Projectors.
1. Assemble the left and right frames.

2. Mount the lower projector in the base frame.

3. Attach the gas springs to the left and right frames.

4. Attach the upper projector to the upper frame.

5. Attach the upper frame and upper projector to the left and right frames and gas springs.

6. Attach the left and right guard frames.

B Assembly
1. Attach the left and right frames to the base frame.

[1] Attach the left and right frames to the base frame. Although the base frame has no specified front or back,
take care to ensure that the left and right frames are positioned correctly. The connection hole near the top
of the left and right frames indicates the back.

Fix the frames in place using the built-in allen hex socket bolts (M6x20, with flat washer and spring washer),
and allen hex socket bolts (M8x50, with flat washer and spring washer).

Note:When assembling this unit, adjust the stoppers (four) on the base frame to stabilise the base frame.

Built-in allen hex socket bolts(M6x20,
with flat washer and spring washer)

allen hex socket bolts(M8x50)

\
Left frame ——— | .
/
\

Base frame

Upper frame connection hole

Base frame

Hex nut

Stopper

After adjusting the stoppers,

move the hex nuts upward

to lock the base frame in place. U
J Right frame

o
allen hex socket bolts(M8x50)




Assembly process (continued)

2. Mount the lower projector in the base frame.

Adjusting leg

[1] Attach the dual bracket to the projector’s lower side.
Place the lower of the two DLP(TM) Projectors on a
soft cloth with the bottom facing upward.

[2] Remove the 4 adjustment legs by turning them anti-

clockwise.

Note:

When use the projector is PT-D9510U, PT-D9510E, PT-
D9610U or PT-D9610E remove the handle and four
spacers,unscrewing the four allen hex socket bolts
(M10 x 35) fixing it as shown down.

Allen hex socket

% Handle bolts(M10x35)

Spacer

7

Lower projector

Projector o

[3] Turn the DLP(TM) Projector right side up.

[4] Place the DLP™ Projector on the base frame
assembled in step 1. Fix the projector in place from
under the base frame by inserting the flat washer
(M10), spring washer (M10) and hex bolt (M10x60)
into the adjustment leg holes, as shown in the
diagram.

Flat washer (M10)

Spring washer (M10) e

Hex bolt (M10x60)

10



Assembly process (continued)

3. Attach the gas springs to the left and right frames.

[1] Attach the lower end of the gas spring unit to the left

frame using the plate bolt (M5x10) as shown on the
left.
Fix the other gas spring to the right frame in the
/ same manner.

Spring upper end for attachment
to the upper frame

Plate bolts(M5x10)

i
Left frame l

Spring upper end for attachment
to the upper frame

<= Mark N\

Extendible portion
\l (@@7 Gas spring

Note:
This bracket attaches to the upper frame. The upper end of the gas spring is indicated with a
<ZImark. Confirm this mark when attaching.

4. Attach the upper frame to the upper projector.

[1] Remove the four adjustment legs (when use the
projector is PT-D9510U, PT-D9510E, PT-D9610U,
or PT-D9610E, remove the handle) from the upper

DLP ™ Projector (See page 10.)

[2] Insert adjustment bolt (M10) and washer (A) in the
adjustment leg holes as shown below .

4 ‘ )

Washer (A)
%de of washer

\ Snap pin hole

@ Adjustment bolt (M10)

11



Assembly process (continued)

Upper fra

[4] Fix the upper frame in place using the washer (B), washer (C), fixing nut (M10), hex nut (M10) and snap pin .

Washer
Connection hole

Insert the washer into the connection hole
on the other side in the same manner.

[3] Place the upper frame over the adjustment bolts as
shown on the left.

-

Snap pin

Snap pin
Hex nut (M10)

Fixing nut (M10)

Rounded side

Indented side of washer

Washer(B)

Note : Use washer (C) for @. Washer (C) is thinner than
washer (B).

After inserting the snap pin in the bolt hole, turn it

to the side as shown below.

\

[1] Turn the upper frame and upper projector over so

that the projector is right side up. Insert the washers
in the upper frame connection holes as shown at left.



Assembly process (continued)

[2] Place the upper frame and upper projector on the left and right frames and align the corresponding connection
holes. Fix in place using the special purpose axis, flat washer (M12), spring washer (M12) and hex nut (M12).

Rear view

Upper projector — _ ~
Upper projector

Special-purpose axis

Upper frame

Upper frame ==
\r‘m_j\ - == - II

Al

Left frame

== \ Flat washer (M12)
Right frame [ . ==. Spring washer (M12)
g Hex nut (M12)

Attach to the right frame in the same manner.

[3] Raise the front handle on the upper frame and fix the upper portions of the left and right gas springs to the
upper frame using the built-in Allen hex socket bolt (M5x10 with flat washer and spring washer ). After fixing
the gas springs, lower the handle and fix the upper frame to the left and right frames using the bolt with hex
socket (M10x60), flat washer (M10), and spring washer (M10).

Hex nut (M10x60)

Spring washer (M10)
Flat washer (M10)

4 I

Plate bolt(M5x10)

Upper frame

Gas spring (right side)

Attach the left gas spring in the same manner.
- /

13




Assembly process (continued)

6. Attach the left and right guard frames.

[1] Attach the left and right guard frames to the left and right frames using the built-in bolt with hex socket
(M6x50), flat washer (M6) and spring washer (M6).

——— /A CAUTION |——

e \When removing the fixing bolts that
attach the upper frame to the left and
right frames, do not place your face
near the upper edge of the upper
frame. Injury may result.

Upper frame, left and right frame fixing bolt
(Allen hex socket bolt M10x60)

Spring washer(M10) Spring washer(M10)

Flat washer(M10)

Flat washer

Spring washer

Ken hex socket bolt
ool

Note:

* This product is equipped with gas springs to
enable the upper frame and projector to be
easily raised.The gas springs normally operate
slowly because of the projector’s weight. When
the upper projector is removed, however, for
example during inspection, the resulting lighter
weight will cause the upper frame to fly upward.
Therefore, when removing the fixing bolts from
the upper frame and left and right frames, keep
your face and body away from the upper frame.

« When the upper frame is raised, it may lower
because of the projector’ s weight. Use the
fixing bolts removed from fixing the upper frame
to the left and right frames to stabilise the upper
frame by inserting the bolts through the upper
frame stopping hole on the left and right frames.

Upper frame stopping hole



Adjusting upper projector angle

Follow the steps below to adjust the angle of the upper projector so that the image projected on the screen
matches that of the lower projector.

* Read the Instruction manual for the DLP (TM) Projector and project an image. Zoom and focus to temporarily
adjust the angle.

1. Adjusting vertical angle

Loosen the bolt with hex socket in the four locations indicated below as B. Adjust the angle by turning angle
adjustment hex bolt A and correct keystone distortion on the projection screen.

7N\ N\
5 o (== I (===] e 5
e e T — e s )~

[ o LT o |\ [oo00e8e0 33 /

C J=rld

This illustration shows only the upper frame and

j upper projector.
|

(o)
\ 4
Panasenic

Projection screen

2. Adjusting left and right inclination
Adjust left and right inclination by turning the adjustment bolts in the adjustment leg holes of the lower
projector (four). When turning the adjusting bolts, turn the front and back bolts on the left side and then turn
the front and back bolts on the right side in the same amount.

Adjustment bolts

Projection screen

15



Adjusting upper projector angle (continued)

3. Adjusting left and right horizontal angle
Loosen the 4 bolts with hex sockets in the four locations indicated below as D. Adjust the horizontal angle by
turning adjustment hex socket C and correct left and right keystone distortion on the projection screen.

Projection screen

4. Repeat steps 1 to 3 to make fine adjustments.

5. When adjustment is done, tightly fix bolts B and D to maintain projector positions.

16



Specifications

Adjustable range
(upper projector only)

Vertical angle correction :
Left and right inclination adjustment :
Left and right horizontal angle adjustment :

+3°
+1°
+1.5°

Assembled dimensions

Width : 914 mm (36") Height: 946 mm ( 37.2")

Depth : 1134 mm (44.6")

Weight

Weight : 101 kg (222.2 Ib)

17




Outer dimensions

Units: mm/inches

o (
q

—
[
]
%p
/3
e

[
L J

| S

t— —F——

[¢) oo ksd [e}
(@) (@) Ol
1134 (44.6")
A\ A\ At
@ b N
b 7 i S8 s ———1 T
( ) L] ( ) ~ = M (= ]
v <| © © R R
™ N <
[e0] o) [e)]
\ 790 (31.1") 95 872 (34.3") \
914 (36" 1070 (42.1")

Trademark Acknowledgements

* DLP is a trademark of Texas Instruments.

18



Panasonic

DLP™MUUOUOUUOOOUooouoboogd

guoodootdbodgoogd

ol Y-DFD95

good

0000000 MMM T T I T T T T I T 2
0o0o0o ol

0000000 MMM T T I T 3
000000 OO T T T T T T T T T 4
000000 O T T I T T T I T I T 9

gooobooboboobd IIrrTTrITm 15

gobobbbboogoobbeLPrMbbobobouogooobobboodd
gobobbbbougoooobbobbuoooooon

s 00000000000 b0o0oobooboooboboobooboobobobobo
s0000000DLPMIUOOODOOODOOOOOOOOOODOOOOOOOO

TQZH 19105



|:| |:| |:| |:| |:| |:| |:| (ooooooooo)

gdodooooooooobbbobobbbbobobbbbbbbobbobooooobooogooooooaa
gbooboobobogon

s(000go0o0Oo0goobooooooogooogooooooooooobooooooooooogoon
oooooooo

/AN OO0
A 00

» J0000000000000000000000000000000
(000000O000000)

® goooboooboobobboobooooboobon

goboobgooobooobooboobobooboobobobobooboon

goboogboobobobooboobooboboobooboobobo
oooobooboobooooog

ggobbobboooobobobboooooboboobbbboooo

gbooobooboobobboobooboooboobon

- [ADD} ™

00 0oooobobooooooon e J000o0ooOoo03nooooaof
goooboooo gooo
obooboooooo3gogoon

o goboobooobooooboobog 0
ooogog

googon
[ J0gooooogooaon m 0 gogoooon

gboboooboobooboboo
ud googboooogoboaogbon

googo
gd 0o

- /

- Aoo

gobooooobooboooDoo
o00293kgOD0OOOODODO

goooooobooboonDoo

[ J000goooobonooooon
goboobgogad

® ggoobobbooooobooooa

o

.

0000000 oobobooooooon
guoooobooogoo

® gogoboboboogooooboogo

0o
/

2



ERERNREgE

gogobLp™Mooogogoobogogobobooooobobooooobbn ooobbboooon
gboooboobobooboobgooo

guooon

ggobooboagd
gobooooocoooocoooboooo

gobooooooooooooboooon
oooooooooooodom

O

goooooomMiod4dn
u :
©® CooOoooooooOomion4nm

Qi 000000M100400

ggobooboagd

goooobooooooboooon
goooooo

ooooobobooooo200

gopbooooooooooooDo oooooooooboobobOoo
oobooooooooood

ooboooooooboooboboo
ooooooo

oboooobooooooo
gooooooooooo
ooooo

0

:

000000000 0

oooooooigo

oooboOobooooboOobooooobo
oobooboooobooboo

DDDDDDDDDDDDDDDDDDE
gooooooogoo !
i

ooooo200

00o0oO0OoM120200

1
i
1
i
1
i
1
i
1
i
0D0000000000M120200 ¢
'
1
i
1
i
1
i
1
i
1
i
1
i
1

@D@D@ II@IM

0000000M120200

____________________________ A
]

oooooooboOooobbooonq
Ooooooooooooooo,

gooooomiod4ad

[ e P

000000AD400)|,
DmmmmmsmstE
DDDDDDCDlD@i
DDDDDDM10D4D[:HE
' DDDDDDM1054D@
- 000000404

gbooboooooboboann

goooboobooOoobOoOobooOoOobOOOODbOb0ODOO
oobooobooo

| .
gooooooMed 1400
U :
(9 goboooobooooMed 140
ooo DDDDDDDDDM6X50D14DQ'

[0 00000 of,

o 000 D & To ||,

gboboooooo

oloco = &= Eo ||,

5o |

gbobooogoog

&



AN Egugugn

goboooobrLp™bDOoOobOOobOO0OOobOOo0obOo0obOoobOoooon

J00000DLPMIDOUOOOODOODOOOCOODOOmMmm)

goooooog
gooooo

goooooogn

1188 (0 183)
sH ol e 000000000 0ooooo
"‘VQOOE /r//_,,/‘/" »4““/_:_‘_*:} \;
" \goooooooo o
===
L ooooof |
H\n
[ —
00000000 ==
00000
[ poobod 0 TH-D8500J0
oo Al 0 TH-D8600J0 0 0 [ 183
SW (11%2?%) 0 : : : :
L-"'90° [ //__/_/_/——
- - L0000OO0O00000000000000000

gbooboooooon
0 TH-D8500J/TH-D8600JO 0 100 183

BOOOOOOOOODOOOOO
562mm

e 00000000 0O0OTY-DOSLEL, TY-DOSLEZ2, TY-DO5LE3, TY-DOSLES
O0D0D00000000000TH-D9500J/TH-D9510J0

0000000000000 00000o40300) 000 mm
0o oDooooo noogoLn
Dooooo 0oooooo
Hom 0000 | ooo  |TY-D95LET 15250 10 TY-D95LEZ 254.00 10 TY-D95LEZ] 40700 TY-D95LEQ
Hod 0 SHO (Sw) 00 0o 0o 00 0o 0g 08M
100 | 1524 | 2032 | 3261 | 5197 | 5270 | 8221 | 8196 | 14142 | 2398
120 | 1829 | 2438 | 3870 | 6203 | 6279 | 9833 | 9820 | 16976 | 2827
150 | 2286 | 3048 | 4784 | 7713 | 7792 | 12251 | 12257 | 21227 | 3471
180 | 2743 | 3658 | 5698 | 9223 | 9305 | 14669 | 14693 | 25478 | 4 114
200 | 3048 | 4064 | 6307 | 10229 | 10314 | 16281 | 16318 | 28312 —
250 | 3810 | 5080 | 7830 | 12745 | 12835 | 20310 | 20379 | 35397 —
300 | 4572 | 6096 | 9353 | 15261 | 15357 | 24340 | 24440 | 42482 —
350 | 5334 | 7112 | 10876 | 17777 | 17879 | 28369 | 28501 | 49567 —
400 | 6096 | 8128 | 12399 | 20293 | 20401 | 32399 | 32562 | 56651 —
450 | 6858 | 9144 | 13922 | 22809 | 22923 | 36429 | 36623 | 63736 —
500 | 7620 | 10160 | 15445 | 25325 | 25445 | 40458 | 40684 | 70821 —
550 | 8382 | 11176 | 16968 | 27841 | 27966 | 44488 | 44745 | 77906 —_—
600 | 9144 | 12192 | 18491 | 30357 | 30488 | 48517 | 48806 | 84991 —

@éEElElp .00 000000000000000000000000000000000000

00ooooooo
4




UM ooooo

gdddddodddoddddddddddiledouuy

Ooo0Odmm
0Q goooooo HOoogoLy
gooooo ooooooo
boo 0oooo | ooog  |TY-D95LEL 1.5-2.50 10 TY-D95LEZ] 2.5-4.00 10TY-D95LEZ] 4.0-7.00 10TY-DO5LE9
bon 0 SHU (Sw) oo oo oo oo oo 0o 0.801L
100| 1245| 2214| 3534| 5647| 5721| 8942| 8922 | 15409 | 2589
120| 1494 | 2657| 4197| 6743| 6820| 10698 | 10692 | 18497 | 3 057
150| 1868 | 3321| 5193| 8388| 8468| 13332 | 13346 | 23128 | 3758
180| 2241 | 3985| 6188| 10033 | 10117 | 15966 | 16001 | 27759 | 4 459
200| 2491 | 4428| 6852 11129| 11216| 17722 | 17771 | 30847 | —
250 | 3113| 5535| 8511 13870 13963 | 22112 | 22195| 38565 | ——
300| 3736| 6641 | 10171| 16611 | 16711 | 26502 | 26619 | 46284 | ——
350| 4358| 7748| 11830| 19352 | 19458 | 30892 | 31043 | 54002 | —
400 | 4981 | 8855| 13489 | 22094 | 22205| 35282 | 35467 | 61721 | ——
450 | 5604 | 9962 | 15148| 24835| 24953 | 39672 | 39892 | 69440 | ——
500 | 6226| 11069 | 16808 | 27576 | 27700 | 44062 | 44316 | 77158 | ——
550| 6849 | 12176 | 18467 | 30317 | 30448 | 48452 | 48740 | 84877 | ——

EEpEiEly -1 00000000+ 5000000000000



O UUO U ooooo

m0000000000TY-DO5LES, TY-DO5LEG, TY-DO9SLEY7, TY-DO5LES
TY-DOSLEQU U OO0 DOO0ODOODDOONOTH-D9600J/TH-D9610J0

gobbobbodggoobboobbouogggsyu4nug

000mm
Uil coooooono HooooLos
= Ooo00ooad hmoooooo
S g g ;D ooo DD 00 [TY-D95LE5(1.5-2.0 :1)| TY-D95LE6(2.0-2.5 : 1)| TY-DO5LE7(2.5-4.0 : 1)| TY-DOSLES(4.0-7.0 : 1)| TY-DOSLE9
0 SHO O oono oono goo| ooo ooad aoad ood| ooOo| os:1
1000 15860 19830 3203 4194 426601 5172 50331 79271 8 06613 905l 926(
1200 1 9040 2 3800 3814 5007 50790 6 1651 6 0251 95130 9 65416 686 2 261[
1500 2 3800 29750 4 7320 62260 62991 7 655 7 512111 891112 03520 858[] 2 763[
18000 2 8560 35700 56500 7444 7 51900 9 1461 8 999114 270014 416[25 029 U3 265]]
2000 31740 39670 62610 8 2571 8 3320110 1391 9991[115 85516 004127 810 3 600{]
25000 39670 49590 7 7910110 28910 365112 623112 470119 820119 9731834 76301 —— [
3000 4 7600 5 9500 9 3200112 320112 398115 107114 948|123 784123 941041 71501 ——
35000 55540 6 942010 849114 352114 431117 5910117 427127 748127 910148 6681 ——
40000 6 34700 7 934012 379116 383116 464120 074119 906131 712131 879155 6201 —
4500 7 1400 8 925113 908[118 415118 497122 558122 384135 676135 84762 573[] ——
5000 7 9340 9917015 438[[120 446[[1 20 530125 042[124 863139 640139 816[69 5251 ——
5500 8 72701 09091116 967122 478122 562127 526127 3421143 604043 785176 478] —
600 | 9520 |1 190018 496|24 509 | 24 595| 30 010| 29 820(47 568|47 75383 430 —

@EEED - 00000000000 00000000000000000000000000000
ooooooooo

Joobobobooooooobobobobbodggilebonon

Ooo0dO0dmm

ood

gobooboooo

oooooLbo

ggno

ggoo

ooooooo

oogd

ooop

i
gooo

gsHOp

DDDD[

TY-DO5LE5(1.5-2.0: 1)

TY-DO5LE6(2.0-25: 1)

TY-DO5LE7

(25-4.0:1)

TY-DO5LE8(4.0-7.0: 1)

TY-DO5LE9

ggno

goo

goo

ggno

goo

gono

goo

goo

08:1

1000
1200
1500
1800
2000
2500
3000
3500
4000
4500
5000
550

1 245[]
1 494[
1 868L[]
2 2417]
2 4911]
3 113[]
3 7360
4 358([]
4 9811[]
5 604[]
6 2260
6 849

2 214(
2 657(
3 321]]
3 985]]
4 428l]
5 535]]
6 641[
7 748[
8 855]]
9 962[]
11 069
12176

I 3 558[
1 424110
I 5 265[]
I 6 289[]
I 6 9710
I 8 678
110 385[
112 092
113 7990
115 506
117 2130
18 919

4 666l
5 572]
6 933
8 293]
9 200]
11 468l
13 735l
16 0021
18 269l
20 5371
22 804l
25071

4738
5 645
7 007
8 368
1 9276
111 545
113 814
116 082
118 351
120 620
122 889
25 158

N R W S R

1 5748
1 6 857
1 8520
110 184
11 292
114 065
116 837
119 609
122 381
125 153
127 925

30 697

1 5 609l
H 6 7150
J 8 375[
1.0 035[]
M1 142[
1.3 908
116 674l
M9 441[
22 20710
24 974
127 740[
30 506

] 8 848
110 617
113 272
115 926
117 696
122 120
126 544
130 968
135 393
139 817
144 241
48 665

1 8987
110 759
113 417
116 074
117 846
122 276
126 705
131 134
135 564
139 993
144 422

48 852

115 519
118 623
123 279
127 935
131 038

146 557
154 317
162 076
169 836
177 595

85 355

o
]
1
il
]
138 7980 —— [
]
N
]
il
ol

2 1200
2 494(
3 055(]
3 615(
— 0

EENEERRY - 000 0000+500000000000

6



OO ooooo

e 00000 0O0O0O0O0OTY-DOSLEL, TY-DOSLEZ2, TY-DO5LE3, TY-DOSLES9
odddddodoooododTH-D8500JdU

O000o0obooboooobooboooo40300)

o000 mm
00000L0

00 ooooo0on Tooooo AERRERE

D00 T 000 | oon  |Tv-D9SLED 15250 10TY-D95LEZ 25400 10 TY-D95LES 407 0L TY-DOSLED
OO0 |gsHO | (sw) 0o oo 00 oo oo 0o 0801
100 | 1524 | 2032 | 3261 | 5197 | 5270| 8221 | 8196 |14 142 | 2398
120 | 1829 | 2438 | 3870 | 6203 | 6279 | 9833 | 9820 |16976| 2827
150 | 2286 | 3048 | 4784 | 7713 | 7792 |12251 |12 257 |21 227 | 3471
180 | 2743 | 3658 | 5698 | 9223 | 9305|14669 |14 693 |25478| 4114
200 | 3048 | 4064 | 6307 |10229 |10314 |16 281 |16 318 |28 312 | ——
250 | 3810 | 5080 | 7830 |12 745 |12 835 |20 310 |20 379 |35397| ——
300 | 4572 | 6096 | 9353 |15 261 |15 357 |24 340 |24 440 |42 482 | ——
350 | 5334 | 7112 (10876 |17 777 |17 879 |28 369 |28 501 (49567 | ——
400 | 6096 | 8128 |12 399 |20 293 |20 401 |32 399 |32562 |56 651 | ——
450 | 6858 | 9144 |13 922 |22 809 |22 923 |36 429 |36 623 (63736 | ——
500 | 7 620 |10 160 |15 445 |25 325 |25 445 |40 458 (40 684 |70821| ——
550 | 8382 |11 176 |16 968 |27 841 |27 966 |44 488 |44 745 |77 906 | ——
600 | 9144 |12 192 |18 491 |30 357 |30 488 |48 517 |48806 |84991| ——

@EEED . 00000000 00000000000000000000000000000000
ajajalalainininls

gogobobbobbbouogooobboobibotdleuoun

O00mm
0o ooooooo HooooLh
oooooog goooooo
boo o000 | ooo  |TY-D95LETD 1.5-2.50 10 TY-D95LEZ] 2.5-4.00 1[|TY-D95LE3] 4.0-7.00 10TY-D95LEQ
oo 0 SHO (Sw) 0o 00 0o 00 0o 00 0.801
100| 1245| 2214| 3534| 5647| 5721| 8942| 8922|15409| 2589
120| 1494 | 2657| 4197| 6743| 6820|10698|10692|18 497 | 3057
150| 1868| 3321| 5193| 8388| 8468|13332|13346|23128| 3758
180| 2241 | 3985| 6188|10033|10117|15966|16 001 |27 759 | 4 459
200| 2491 | 4428| 6852|11129|11216|17 7221777130847 | ——
250| 3113| 5535| 8511|13870|13963|22112|22195|38565| ——
300| 3736| 6641 |10171|16611|16711|26502|26619 46284 | ——
350| 4358| 7748 |11830|19352|19458|30892|31043|54002| —
400| 4981 | 8855|13489|22094|22205|35282|35467|61721| —
450 | 5604 | 996215148 |24 835|24953|39672|39892(69440| ——
500| 6226|11069|16808|27576|27 700| 44 062 |44 316 |77 158 ——
550| 684912176 |18 467 | 30317 |30448|48452|48740|84877| ——

EENEEEREY - OO0 000000+ 500000000000




U UL pooooo

m 0000000000 TY-DO5SLEL, TY-DOSLEZ2, TY-DO5LE3, TY-DO5LE9
JdddddooodododTH-D8600JU

gooooboobobooobooboboosboab )

Oddmm
00 0o0ooooo HooooLo
ooo Dooood 0000o0on
Tap | 0000 ggp |TYD9SLED 15250 1Tv-DI5LE] 254.00 1] TY-DISLER 40-7.00 1y posLeo
0 SHO 00 00 0o 00 00 00

100 | 1587 | 1983 | 3145| 5006| 5078 | 7915| 7887 | 13603 | 2316
120 | 1904 | 2380 | 3731 | 5974| 6048 | 9465 | 9449 | 16329 | 2729
150 2 380 2 975 4 610 7 426 7504 |11 791 |11 793 | 20418 | 3 348
180 | 2856 | 3570 | 5489 | 8878 | 8959 |14 117 |14 137 | 24507 | 3 967
200 | 3173 | 3967 | 6075 | 9846 | 9929 (15667 |15700 |27 233 | ——
250 | 3967 | 4959 | 7540 |12 267 |12 355 |19543 |19606 | 34049 | ——
300 | 4760 | 5950 | 9005 |14 687 |14 781 |23 420 (23513 | 40864 | ——
350 | 5554 | 6942 |10470 |17 107 |17 207 |27 296 |27 419 |47 679 | ——
400 6 347 7934 |11 935 ({19527 (19633 |31 172 |31 326 | 54 494 -
450 | 7140 | 8925 |13 400 |21 948 |22 059 |35048 (35232 | 61310 ——
500 | 7934 | 9917 |14 866 |24 368 |24 485 38925 |39139 68125 | ——
550 | 8 727 |10909 |16 331 |26 788 |26 910 |42 401 |43 045 | 74940 | ——
600 | 9520 |11 900 |17 796 |29 209 |29 336 |46 677 |46 951 | 81 756 | ——

@EEED -0 0000000000000 00000000000000000000NoOonoon
000000000

goboobobbooogogobbbobbuodgdglenouon

ooodmm
00 0oooooo JobooLy
0oQ oooooon 0D000ood
Sgg | 000D ] ggg |[TYDSLED L5250 10TY-DI5LEZ 25-4.00 1 TY-DIELED 4.0-7.00 107v.p95LEY
0 SHO 00 00 00 00 00 00

100 | 1245 | 2214 | 3486 | 5568| 5641 | 8815| 8794 | 15186 | 2556
120 | 1494 | 2657 | 4140 | 6648 | 6724 |10546 |10538 | 18 229 | 3017
150 | 1868 | 3321 | 5121 | 8269 | 8349 13142 |13155 | 22793 | 3708
180 | 2241 | 3985 | 6102 | 9890 | 9974 |15737 |15771 | 27 357 | 4399
200 | 2491 | 4428 | 6756 10971 |11 057 |17 468 |17 515 | 30400 | ——
250 | 3113 | 5535 | 8391 (13672 |13 764 |21 795 |21875 | 38007 | ——
300 | 3736 | 6641 |10027 |16 374 |16 472 |26 121 |26 235 | 45614 | ——
350 | 4358 | 7748 11662 |19 075 |19 180 |30 448 (30595 | 53221 | ——
400 | 4981 | 8855 13297 |21 777 |21 887 |34 774 |34956 | 60828 | ——
450 | 5604 | 9962 |14 932 |24 478 |24 595 |39 101 (39316 | 68435 | ——
500 | 6226 (11069 |16 568 |27 180 |27 303 |43 427 |43 676 | 76 042 | ——
550 | 6849 |12 176 |18 203 |29 881 |30 010 (47 754 |48 036 | 83648 | ——

@EEED .- 00000000+ 500000000000




EEERNgNgEEN

gooooooobpLpP™MOOODOO0ODOOO0ODOOODODODOODOODOODbDODO

ooobobooobooobgoobooboobooo

gooooooboobobobooboooboobo

gooobooobooboobobbooboooboooo

ooobobooobooobgoobooboobooo

oooobooobooboboboboooboobooboboobooboobobDboobnoobOon

o a0 b W N P

ooooboboboboooboon

m 00000

1l 0oooOoOOODOOOOO0OO0D0OO0O000

goooooobooboboboboooboobooboboobooboboboboooboobooo
gboooboobobooboobo™oboboobooboomMex2000obogooooogon
gboobobbooboobooboboobooMsxsonoooooooo

@iFElElp) - 0000000000000 00000000000000004000000000
0000000000000 0O0O00D0O0000

ooo0oOoboooobooboMex 2000
ooooooooooooobooboobooo

oooOoooooomMsx 5000

.
DDDDD[‘)\‘ ° oooooon gooboooooon
\/
- )
goooooogd
gooooo
goooog

ggbogoboobooog
gbobobooooooog

0000000000000g U
ooooooooo oodooo D00000000MSx 5000
- J

S




U O poooo

2 00000000000000000000000

oboooooao

ooooboobobooobooobeP™OOOO
goooboooboboobooboobooboo
ooogono

gogobobobood4gogoboobboooonoobooo
OO0o0O0bO0O0O0TH-D9510J/TH-D9610J
gogooboboooooboobboooooboobood
oooon (M10ox35,40)00000000
oooob@oO)yooooobooo

DLP™MOODO00OOD0OOODOODLOO0ODOn
goooboobooo

idogobgoooboooooobeLp™MOopooOoO
ooooboobobooboob400bonboo
gbooobgooobobbooboobgoooboooo
oMiomoooOooOoooobooMioOooOooo
ooMioxeoU OO UODOOOO

gbobobooooMioOE——=e

DDDDDDDDDDDMlOE@
0
O

oooo0ooomioxeonn

10



U ooooo

3 0000O000000000000000000000

«~~ [ooooooooooooooooooOOOOo
gHHooMs-donD NE D0000MMSx1000000000000000

O
O gogooboooooboobooooobobobood
goooogon

oooooo

gboooooobooboaoba
gbobobooooooboono

«0oon X‘m

oooon

oooooooo

oooooOooooooo gooobooooboooo

GEEED
.00000000000000000000 <2000
Dooooo 0000000000000000000000000
0o00o0oo

4 0QoOoO000000000000D000000

1ODDE|DDDDDDDDLPTMDDDDDDDD
00o00b0obob40000000D0OMmMTH-DOS
10J/TH-D9610J0 00 0000DOOO0O00OOO

DDDDDDI]DDDTH-D9510J/TH-D9610JDD
ooooboooooooboobooMiombogon
gbooAdDO0OO0OO0OO0O0bOO00obOoooo

4 ‘ )

OgodooogAdnO

\

gooooooo

~ ooooooMioOn

11



U ooooo

RN

gbooobooboooon

DDDDDDDDDDDDDDDDDDDDDDD

DDDDDDBD]DDDDDDCD]DDDDDDMlOD]DDDDDDMlOD]DDDDDDDDDDDD

gogobooboooooobooogn

gbobobooobooboobooboboooo

Jo00o0o0o0o0o0o0o0
12

4 gooooon
0ooooomMiom
goooooMiond

goooooooooooo

@DDDDDDD

gboobooosBOO

DD@DDDDDDDDEDCDDDDDDDDD
U oooomcoboooobooobosobOoboOoOO
O ooooogoobo

goooooo
‘ «JO000000000O00O0OOOOOO
O00o0o0ooO0oO00o00boo0ooooo

\

J

DDDDDDDDDDDDDDDDDDDDDDD

gooobooobooboboooboooboobo
gbooobooboooobooboobooboobo



U pooooo

DDDDDDDDDDDDDDDDDDEI[II:JEIDDDDDDDDDDDDDDDDDDDDEI[II:JI:I[II:J
gobooboobobooboobobboboobooboMiI200bo0ooooooooMaz2mdg
obooooMi2moobogoonog

gogooooog
gbobooooog

gooooo

ggoo

gooooo

ooooog

gboboooooMizon
gboboboooooomMazgc
gboobooMizo0

gopoogo . . ==,

&

\DDDDDDDDDDDDDDDDDDDDDD )

-[II:JEI[II:JEI[II:JI:I[II:JI:I[II:JI:I[IDIZI[II:JDDDDDDDDDDDDDDDDDDDDDDDD
gooobomMsxioboooooooooooboo
- JO00D000DODODOODOODOODbOODbODODDOObDOODOODbODODODbDOODbDOODbDODOO
ogMioxeOM pooooooMiombooooobooooboooMiobboooobooboooboobo
goooog

/DDDDDDDDDM10X6ODD
/DDDDDDDDDDDMlODD

googoooomMiodn

4 )

0000 (M5x 10)0

goooonB

(E‘A

gbobooboo
gbooooogo

goobobobooooooobooboobobo
gooboobooooon

13



U ooooo

6 0DoDOoDOoDODO0OOo0Oo0OoO

doo0obooobooboboboobooobooboobooooo@mvexsoooooobooMed™ ™
goboobooooooMeboboooooooooooDO

gboboooodo

gbobooboooooob

gooogo

.000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000

\_ / 000000000000000000000000

000000000000000000000000

000000000000000000000000

gboboboooooboooboobobo gogoboboboooooooboooooboboogd
gobooooboooMioxeon O0o000oo0

gogooobbooogooobooo

goooboboooboobgoon

ggoboobooooobooog
gd gbooboobooooDg

JO00000b0O0bObODbOobDOoObOoobOoboo
gboooboobobbobooobooboobon
gbooboobobboboobuooboobon
gboooboobobbobooobooboobon
gooobgooogon

—oobobobab

14



HERERRNRN RN REREREREE

gooobooboboboboobooboobooboob0ooboobobobobooboobobobobo

gboooboobobooboobooboboobooboobobooboobon

DLPM™MOIDO0ODODODOODOOODO0ODOODOODOODODOODOODbOODbOODODODODbDOODbOODOD
gboobooooboobooboboobooboboboobooboon

0i10booooon

gbo4000BODO0ODOOODODOOODOOAODOODOODOODODOODOODOOOODOOO
oooobooboboooboobooo

)

o
o
)
1]
N—r

h

i p—

C :
a L
& gt
@

t
J
|

()
¥

/
— |
L]

=]

asonic

OE@@[@

] gobooooboooooocooo
gooooooooooooooo

—//
—

goooo
oz20000000

goooboobgoboboboobgoobooboboobooboo4boobooboobooboobooo

ooooboobobooboobobboboobo0oboobooboooboobobobobooobOon
goooboobobboboobuoobgoobobbooboo

QN7 O

| T
o dEey VV Eeg6 d o

000000 \

15



OO Hooooo

o3000o0ogooon
gobo4000DOO0OD0O0ODOO0DOODOOOCO0b0o0obOoOobOobDbOOobDOo0ObOoO0bOobODbOobDOO
gooboobooboobooboboooboo

040100030000 00000000O000DO0O0DbO0O0O

gs5000bgooobooBoboobooobooooboooboobooboboooboobooboo

16



][]

goonf
gobobobooogooboooonon

obooobDgos=se
ooooboooogsrr
OboobOoDoDO=x15°

gogoooooo

O00914mm [0O0946mm

001 134mm

g

101kg

17




LD L E LT L

o[
q

<

—
|
]
1
]
i
e

1
C__J

L—u| e vi
o - i o_od o
(@) (@) Ol
1134
A\ /A F JA
iz ; $l| g 9 ¢ ———}
C )] C )] 3 S S (m 1

! 790 | 95 872 \
914 1070

O0D00pmmmDIo

Doooooo |

e DLP[IIMMexas InstrumentsO 00000
0000000000000 00000O00000000000O000O000b00O0b00Oo0oO0ooOooOn

Jotdbtdotdoubotubouooobooboonon

0B871M8503M 00000000 RONSI0 IR (0606901001610
MO701M81220

180



